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7 100kN/mM#E#BZ5 | 1.00 | 000 ~ 0.44 106.58 |3m%E#BZ 5 -~ - -] 100kN/mZ#8z% | 1.00 | 11.87 ~ 1360 106.58 |3mZ#Bz25 ~ -
s 1.00 | 044 ~ 823 100.00 | =St | 000 ~ 823 1.97 9.97 st 1.00 | .00 ~ 1187 100.00 | =nst | 6.00 ~ 1360| 1.97 9.97
2 100kN/m%#8%% | 1.00 | 000 ~ 096 114.44 |3m%EBZ% -~ -] 100kN/ %825 | 1.00 | 1099 ~ 1442 114.44 |3m%E#BZ% ~
s 1.00 | 096 ~ 875 100.00 | =nst | 0.00 ~ 875 | 2.06 10.56 st 1.00 | 6.00 ~ 10.99 100.00 | =nst | .00 ~ 1442)| 2.056 10.56
3 100kN/m%E#Bz25| 1.00 000 ~ 1.18| 117.76 |3mEEZS ~ -] 100kN/ %825 | 1.00 | 1063 ~ 1455 11776 |3m%E#BZ% ~
s 1.00 | 1.18 ~ 896 100.00 | =4t | ooo ~ 896|212 10.71 st 1.00 | 6.00 ~ 1063 100.00 | =nst | 6.00 ~ 1455|212 10.71
4 100kN/m%EBZ5| 1.00| 000 ~ 155 123.67 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 11.03 ~ 1626 12367 |3mEiBz% ~
s 1.00 | 1.56 ~ 9.34 100.00 | =nst | 0.00 ~ 9.34 | 2.66 12.92 st 1.00 | 6.00 ~ 1103 100.00 | =nLst | 6.00 ~ 1626 2.66 12.92
5 100kN/m%E#BZ5| 1.00 000 ~ 125 11888 |3mEHEZD ~ -] 100kN/mZ#8z% | 1.00 | 1069 ~ 1457 11888 |3mZz#Bz25 ~
s 1.00 | 1.26 ~ 903 100.00 | =nst | ooo ~ 9.03| 228 11.52 st 1.00 | 6.00 ~ 1069 100.00 | =nst | 6.00 ~ 1457| 2.28 11.52
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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